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Section : Quantitative Aptitude

Q.1
The value of

8x8+4-8+80f2-7

Ans

X1 =

17

V22

3
17

X3

g
16

X2

170

g=[(8-3)+{(4+4 of 8)+4—4x4+8}-2] B
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Q.2 Asum of 8,000 invested at 10% p.a. amounts to T9,261 in a certain time, interest compounded half-yearly. What will

be the compound interest (in ¥) on the same sum for the same time at double the earlier rate of interest, when interest is

compounded annually?

Ans X 1. 32,520
v 2 32,560
X 3. 32,500
X 4 32,480

Q.3 p*
z

If sec@ + tanf = p,0° < & < 90°, then : is equal to:

il
Ans  of 1. sind
X 2. 2cosecB

/< 3 cosecB
& 4 cos@

Q.4 InAABC £B=72° and £C = 44°, Side BC is produced to D. The bisectors of £B and £ZACD meet at E. What is the

measure of ZBEC?

Ans  f 1 370
< 2 46°
X3 36°
X 4. 580
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Q.5 The given table represents the production of different types of motorcycles (in thousands) over a period of six years.

Study the table carefully and answer the question that follows.

Years — | 2013 | 2014 | 2015 | 2016 | 2017 | 2018
Motoreycles
(type)
A 95 84 85 89 80 98
B 98 87 89 88 96 92

C 104 |89 (95 92 100 | 110
D 103 | 100 [102 |95 104 | 120

During 2015, the production of which type of motorcycle was more than 25% of the total production of all types of
motorcycles in 2017?

Ans X 1. A
X2cC
<3 B
v4D

Q.6 The average age of a number of persons in a group was calculated as 35 years, which was 2.5 years more than the
correct average as there was an error in recording the age of two persons as 38.5 years and 40 years instead of 29 years
and 22 years respectively. The number of persons in the group was:

Ans x1. 15
<213
<12
v 411

Q.7  Asumof Tx was divided between A, B, C and D in the ratio % : % : % : %. If the difference between the shares of B and
D is ¥832, then the value of x is:

Ans X 1. 37,384
X 2. 7,488
X 3. 7,696
v 4 37,592
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Q.8  The area of a field in the shape of a regular hexagon is 2400v/3 m2. The cost of fencing the field at Z16.80/metre is:
Ans  of 1. 34,032

X 2. 33,528

X 3. 34,536

X 4 33,024

Q.9 If the selling price of an article is $% more than the cost price and the discount offered is 10% on the marked price of
the article, then what is the ratio of the cost price to the marked price?

Ans X' 1.8:9
v25:6
K3 4:5
X43:4

Q10 1£12x% — 21x+ 1 = 0, then what is the value of 9x2+ (16x2)7?

Ans ‘, | 417
16

XZE

8
4635

X s 2

16
429

X2

8

QM 1£2x% + 2 4 822 — 242xy + 4v2yz — 8zx = (Ax +y + Bz)?, then the value of (4% + B> — AB) is:
Ans x1_ 16

<26

v 14

<418
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Q.12 Asells an article to B at a loss of 20%. B sells it to C at a profit of 12.5% and C sells it to D at a loss of 8%. If D buys it
for 248.40, then what is the difference between the loss incurred by A and C?

Ans X 1. F36.80

< 233920
V'3 338.40
< 4 342,60

Q.13 Places A and B are 144 km apart. Two cars start simultaneously, one from A and the other from B. If they move in the
same direction, they meet after 12 hours, but if they move towards each other they meet after % hours. The speed

(in knmv/h) of the car moving at a faster speed, is:

Ans X1_ T
< 2 60
V'3 70
<4 64

Q.14 Four men and 6 women can complete a certain piece of work in 5 days whereas three men and 4 women can complete it

in 7 days. How many men should assist 25 women to complete 2% times the same work in 5 days?
Ans x 1. 4
X238
<310
vis

Q.15 How many numbers are there from 200 to 800 which are neither divisible by 5 nor by 72

Ans X1 410
v 2 411
< 3. 407

X 4. 413
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Q.1

cot®20+s52c%28 | X

6
If 7c05%8 + 3sin?0 =6, 0° < 8 < 90°, then the value of TR I

Ans 28

Ko

27

v 2

27

X3

15

X4

45

Q.17 W AABC, AC=84 cmand BC = 14 cm. P is a point on AB such that CP = 11.2 cm and ZACP = £B. What is the
length (in cm) of BP?

Ans 1. 2.8
X2 4.12
3 3.78
<436

Q.18 The value of (cos9° + sin 81°)(sec 9° + cosec 81°) -

2sin® 63° + 1 + 2sin®27°

Ans x1.

I

X
B[ = U]
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Q.19 Two circles of radii 7 cm and 5 cm intersect each other at A and B, and the distance between their centres is 10 cm. The
length (in cm) of the common chord AB is:

A .

" ?{W.zT'"'ﬁ
jz.“T"ﬁ
X Bte
Ko 28

Q.20 A, B and C donate 8%, 7% and 9%, of their salaries, respectively to a charitable trust. The salaries of A and B are same
and the difference between their donations is ¥259, The total donation of A and B is 1,185 more than that of C. The
total donation of A and C is what percentage of the total salaries of A. B and C? (Correct to one decimal place)

Ans X' 1. 6.4%
X2 7.1%
< 3. 6.2%
v 4 5.8%

Q.21 The given table represents the production of different tvpes of motorcycles (in thousands) over a period of six vears.
Study the table carefully and answer the question that follows.

Years —* | 2013 | 2014 | 2015 | 2016 | 2017 | 2018
Motorcycles

(type)

A 95 84 |85 89 80 98

B 98 87 |89 88 |96 92

C 104 |89 |95 92 100 |110
D 103 | 100 | 102 |95 104 | 120

By what percentage is the total production of type A motorcycles over six years, less than the total production of all
types of motorcyeles in 2013 and 20167

Ans X' 1.31.6
<2328
V'3 305
<4322
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Q.22 Ifx+y+z=3, and x? + y2+z2 = 101, then what is the value of \/x* +y3 + 2% — 3xyz?
Ans J1_ ol

X2 28

K324

X 419

Q.23 The given table represents the production of different types of motorcycles (in thousands) over a period of six years.
Study the table carefully and answer the question that follows.

Years —* | 2013 | 2014 | 2015 | 2016 | 2017 | 2018
Motorcycles
(type)
A 95 84 85 89 80 98
B 98 87 89 88 96 92
C 104 |89 (95 92 100 |110
D 103 | 100 (102 |95 104 (120

‘What is the percentage increase in the total production of all types of motorcycles from 2014 to 2018?
2
o1 16-
3

1
?<21?£

Ans

X 3. 14%

3
F 14;
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Q.24 The given table represents the production of different types of motorcycles (in thousands) over a period of six years.

Study the table carefully and answer the question that follows.

Years —* | 2013 | 2014 | 2015 | 2016 | 2017 | 2018
Motorcycles

(type)

A 95 84 85 89 80 98

B 98 87 89 88 96 92

C 104 |89 95 92 100 110
D 103 100 | 102 [95 [104 |120

‘What is the ratio of the total number of motorcycles of type B produced in 2016 and 2018 to the total number of
motoreyeles of type D produced in 2013, 2015 and 20167

Ans 11_ 3:5
<23:4
K3 2:3
Kal:2

Q.25 The chords AB and CD of a circle intersect at E. IfFAE = 12 em, BE = 20.25 cm and CE = 3 DE, then the length (in cm)
of CE is:

Ans X 1.
v &)
X 3
X 4

L 1 T O S
=] e~
L L]
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